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1. If a principal becomes twice of it in 10 years

then the rate of simple interest is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Z0yjEGOiBh6o

A.5%

B.10%

C.15%

D. 20%

Answer:

o Watch Video Solution

2. The product of two roots of the equation

z? — Tz + 3 = Ois _


https://dl.doubtnut.com/l/_Z0yjEGOiBh6o
https://dl.doubtnut.com/l/_jukE9mQsI58e

A7

Answer:

° Watch Video Solution

3. The length of two chords AB and CD of a
circle of centre O are equal and ZAOB = 60°

,then ZCOD is


https://dl.doubtnut.com/l/_jukE9mQsI58e
https://dl.doubtnut.com/l/_MZ6Y3PfJ7ORF

A. 30°

B.60°

C.120°

D. 180°

Answer:

° Watch Video Solution

4. If the ratio of the volume of two right

circular cones is 1: 4 and the ratio of radii of


https://dl.doubtnut.com/l/_MZ6Y3PfJ7ORF
https://dl.doubtnut.com/l/_0BOjyPFmCYAh

their bases is 4 : 5 then the ratio of their

heights is

A1:5

B.5:4

C.25:16

D.25:64

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0BOjyPFmCYAh

5. If sinf —cosf =0, (0° <6 <90°) and

secl + cosecd = z, then the value of x is

Al

B.2

D.2+/2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_1rcsRT55m7JS

6. The mode of 1,3,2,8,10,8,3,2,8,8is _

A2

B.3

C.8

D.10

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dZETtsue88W5

7.Fill up the blanks: Anisur invests ¥ 500 for 9
months in a business and Devid invests ¥ 600
for 5 months in the same business the ratio of

their profit will be

° Watch Video Solution

8. The roots of the same quadratic equation
az® + 2bxz 4+ ¢ = 0(a # 0) are real and equal

then b"2 =

° Watch Video Solution



https://dl.doubtnut.com/l/_7tB7sPkYbdOF
https://dl.doubtnut.com/l/_OnbB8xMMlAFH

9. If sum of two angles is then they

are called supplementary angles.

o Watch Video Solution

10. Maximum value of sin 30is

o Watch Video Solution



https://dl.doubtnut.com/l/_OnbB8xMMlAFH
https://dl.doubtnut.com/l/_2jOjXg4gdKem
https://dl.doubtnut.com/l/_LI0IS5bvNQwc

11. One solid sphere is melted and a solid right

circular cylinder is made then of

sphere and the cylinder will be equal.

o Watch Video Solution

12. Ages of some students are (in years) 10, 11,
9, 7, 13, 8, 14 the median of the ages of those

students is years.

o Watch Video Solution



https://dl.doubtnut.com/l/_V58QgFZ68TzZ
https://dl.doubtnut.com/l/_tuGRuzcPdBGq
https://dl.doubtnut.com/l/_vd0QyT58e7BA

13. Write True or False : The amount of ¥ 2p in
t years at the rate of simple interests of r/2%

per annum is ¥(2p + prt/100).

o Watch Video Solution

14. If 2a = 3b = 4c then prove that a: b : ¢

6:4:3.

° Watch Video Solution



https://dl.doubtnut.com/l/_vd0QyT58e7BA
https://dl.doubtnut.com/l/_cuKaxgKAlsMv

15. True or false: If the ratio of the lengths of
three sides of a triangle is 5: 12 : 13, then the

triangle will always be a right angled triangle.

o Watch Video Solution

16. True or false: The angle formed by rotating
a ray about its end point in anticlockwise

direction is positive.

o Watch Video Solution



https://dl.doubtnut.com/l/_4Psf4zypwnyx
https://dl.doubtnut.com/l/_W7tCMBmYd67E
https://dl.doubtnut.com/l/_wZDVFvG78o8L

17. If n is even number, then median is the

mean of (n/2) th and (n/2 - 1) th observation.

° Watch Video Solution

18. If the length of the radius of the base of a
right circular cone be halved and its height be

doubled, then the volume remains same.

° Watch Video Solution



https://dl.doubtnut.com/l/_wZDVFvG78o8L
https://dl.doubtnut.com/l/_hZYJt2AXruiq

19. Answer any ten questions : If the ratio of a
principal and the amounts for 5 years is 5 : 6,
then find the rate of simple interest per

annum.

° Watch Video Solution

20. In a business A and B get ¥ 1,050 as profit.
If the principal and profit of A be ¥ 900 and ?

630 respectively. Find the principal of B.

° Watch Video Solution



https://dl.doubtnut.com/l/_vAzpElpPRfsO
https://dl.doubtnut.com/l/_b9FH1FkLnTE5

2l Ifx < y,y x zand z x z, find the product

of three variation constant.

o Watch Video Solution

22. If the roots of the quadratic equation

522 — 2z — 3 = 0 be a and B, find the value

1:1+1
of — 5

° Watch Video Solution



https://dl.doubtnut.com/l/_b9FH1FkLnTE5
https://dl.doubtnut.com/l/_QlFdB5ggv5mu
https://dl.doubtnut.com/l/_cn7dXs8IYw4S
https://dl.doubtnut.com/l/_ZUBMKfAEqs5V

23. The point O is situated within the
rectangular region ABCD in such a way that OB
=6 cm, OD = 8 cm and OA = 5 cm. Determine

the length of OC.

o Watch Video Solution

24. In a right angled triangle ABC,
/ABC = 90°, AB =3 cm, BC =4 cm and the
perpendicular BD on the side AC from the
point B which meets the side AC at the point

D. Determine the length of BD.

| = |


https://dl.doubtnut.com/l/_ZUBMKfAEqs5V
https://dl.doubtnut.com/l/_8hB5yCxwfhRo

I 0 Watch Video Solution I

25. The lengths of radii of two circles are 8 cm
and 3 cm and the distance between two
centres is 13 cm. What is the length of the

direct common tangent of two circle?

o Watch Video Solution

26. What is the circular measure of an angle
formed by the rotation of hour hand of a clock

in one hour duration?


https://dl.doubtnut.com/l/_8hB5yCxwfhRo
https://dl.doubtnut.com/l/_p5UFtwV3Nj3i
https://dl.doubtnut.com/l/_LMDMbYbiEPvw

° Watch Video Solution

27. If tan40xtan60=1 and 60 is a positive acute

angle. find the value of 67

o Watch Video Solution

28. The height of a right circular cone is 12 cm
and its volume is 100II em®. Find the lateral

height of the cone.

o Watch Video Solution



https://dl.doubtnut.com/l/_LMDMbYbiEPvw
https://dl.doubtnut.com/l/_x0xQePGxJiTw
https://dl.doubtnut.com/l/_5ArHfQg6EN0z

29. Curved surface areas of two spheres are in

a ratio 1: 4. Find the ratio of their volumes.

° Watch Video Solution

30. |If u; = 1—0, Zfzuz =30 and

Z f; = 60, then determine the value of .

o Watch Video Solution



https://dl.doubtnut.com/l/_5ArHfQg6EN0z
https://dl.doubtnut.com/l/_0xev3DxuaE1a
https://dl.doubtnut.com/l/_32yM0rWdsgYA

31. Question: The price of a machine in a
factory of your uncle depreciates at the rate of
10% every year. If its present price is ¥ 6,000

then what will be its price after 3 years?

o Watch Video Solution

32. Three friends invested ¥ 1,20,000, ¥
1.50,000 and ¥ 10,000 respectively to
purchase a bus. The first person is a driver and

the other two are conductors. They decided to


https://dl.doubtnut.com/l/_xEyWvYGeCdaZ
https://dl.doubtnut.com/l/_zh3B7sqOtfBe

divide 2/5th of the profit among themselves in
the ratio of 3 : 2 : 2 according to their work
and the remaining in the ratio of their
capitals. If they earn ¥29,260 in one month,

find share of each of them.

o Watch Video Solution

33. Answer any one question : Solve 1/x -3 - 1/x

+ 5=1/6.

° Watch Video Solution



https://dl.doubtnut.com/l/_zh3B7sqOtfBe
https://dl.doubtnut.com/l/_gxTilpaTeV3M
https://dl.doubtnut.com/l/_ectxuAmjWEeG

34. The product of two consecutive positive
odd numbers is 143 Construct the equestion
and determine the numbers by applying

Sridhara Acharyya's dormula.

o Watch Video Solution

35. Answer any one question : x = 2 + /3

and x +y = 4, then find the simplest value of xy

+ 1/xy.

o Watch Video Solution



https://dl.doubtnut.com/l/_ectxuAmjWEeG
https://dl.doubtnut.com/l/_AtWPzCSwo81C

36. If a xb and b x ¢, then prove that

a® + b + & « 3abe.

o Watch Video Solution

37. Answer any one question: Ifx:a=y:b=2z:

3 3 3
x Jj Z 3ryz
,th howthat —« + — + — = :
¢, then show tha a3+b3+c3 e

o Watch Video Solution



https://dl.doubtnut.com/l/_G96vecQ3WG5K
https://dl.doubtnut.com/l/_hpizJZjVQpOU

38.If ay - bx/c = cx - az/b = bz - cy/a, then prove

that x/a =y/b =2z/c.

o Watch Video Solution

39. Answer any one question : Prove that
angles in the same segment of a circle are

equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_sMn4tPI1jCX8
https://dl.doubtnut.com/l/_9b1BHb6KJ075

40. Prove that if two tangents are drawn to a
circle from a point outside it, then the line
segments joining the point of contacts and

the exterior point are equal.

o Watch Video Solution

41. Answer any one question : Two circle
intersect each other at the points P and Q. If

the diameters of the two circle are PA and PB


https://dl.doubtnut.com/l/_A42eDhrA0oed
https://dl.doubtnut.com/l/_hTYvu6yPZH3B

respectively, then prove that A, Q, B are

collinear.

° Watch Video Solution

42. ABC is a right angled triangle whose

/A = 90°, AD is perpendicular on BC. Prove

areaof N ABC B(C?

that = .
a areaof N\ ACD AC?

o Watch Video Solution



https://dl.doubtnut.com/l/_hTYvu6yPZH3B
https://dl.doubtnut.com/l/_kYVfuueLzrBJ

43. Draw the mean proportional of line

segments of lengths 4 cm and 3 cm.

o Watch Video Solution

44. Draw a circle of radius 3 cm. Construct a

tangent to the circle at a point A on the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_A22ElC4rPoZt
https://dl.doubtnut.com/l/_mlvuDEk0YHG5

: : o x
45, Answer any two questions : If sin17° = —
Y
22

U7 —

,show that sec17° — sin73° =

o Watch Video Solution

46. If the sum of two angles is 135° and their

I1
difference is 5 then the of two angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_ChYlZptELjO8
https://dl.doubtnut.com/l/_9X8LVVbSC6jK

47. The length of outer and inner radii of a
hollow right circular pipe are 5 cm and 4 cm
respectively. If the total surface area of the

pipe is 1188 sg. cm, find the length of the pipe.

o Watch Video Solution

48. A hemispherical bowl with radius of 9 cm is
completely filled with water. How many

cylindrical bottle of diameter 3 cm and height


https://dl.doubtnut.com/l/_8SeBAyZ3XQ8H
https://dl.doubtnut.com/l/_1lRgWphqrPxe

4 cm can be filled up with the water in the

bowl.

° Watch Video Solution

49, The diameter of the base of a right circular
cone is 21 metres and height is 14 metres.
What will be the expenditure to colour the
curved surface at the rate ¥ 1.50 per square

metre?

° Watch Video Solution



https://dl.doubtnut.com/l/_1lRgWphqrPxe
https://dl.doubtnut.com/l/_YVr0zbxc4UiQ
https://dl.doubtnut.com/l/_rAVtXp8tzW3W

50. Find the median of given data :

Class interval [I-5 | 6-10( 11-15| 16-20 | 21-25 | 26-30 | 31-35
Frequqr_lcy 2 3 6 7 .5 |- 4 3

o Watch Video Solution

51. Find the mode of data from the following

frequency distribution table :


https://dl.doubtnut.com/l/_rAVtXp8tzW3W
https://dl.doubtnut.com/l/_crUlaRc15Ybk

ClassInterval | Frequency
10 — 25 2
25 — 40 3
40 — 55 7
55 — 70 6
70 — 85 6
85 — 100 6

° Watch Video Solution



https://dl.doubtnut.com/l/_crUlaRc15Ybk

